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STATISTICS

Examples

1. If a variate  is expressed as a linear function of

two variates  and  in the form ,

then mean  of  is

x

u v x = au + bv

x̄ x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4t4C9ltwmszJ


A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

a¯̄̄U − b ¯̄̄V

¯̄̄U + ¯̄̄V

b¯̄̄U + a ¯̄̄V

2. If the mean of the numbers

 is 82,

then the mean of

 is

27 + x, 31 + x, 89 + x, 107 + x, 156 + x

130 + x, 126 + x, 68 + x, 50 + x, 1 + x

https://dl.doubtnut.com/l/_4t4C9ltwmszJ
https://dl.doubtnut.com/l/_uN7KfRMAnI9K


A. 75

B. 157

C. 82

D. 80

Answer: A

Watch Video Solution

3. If the arithmetic mean of the numbers

 is  then the arithmetic mean

of the numbers

x1, x2, x3, ..., xn x̄,

https://dl.doubtnut.com/l/_uN7KfRMAnI9K
https://dl.doubtnut.com/l/_Wq2v9ZDhiaez


 where a,

b are two constants, would be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax1 + b, ax2 + b, ax3 + b, .... , axn + b,

x̄

nax̄ + nb

ax̄

ax̄ + b

https://dl.doubtnut.com/l/_Wq2v9ZDhiaez


4. The weighted means of of first n natural

numbers whose weights are equal to the squares

of corresponding numbers is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

n + 1

2

3n(n + 1)

2(2n + 1)

(n + 1)(2n + 1)

6

n(n + 1)

2

https://dl.doubtnut.com/l/_Q3U0ZrtMg7Oi
https://dl.doubtnut.com/l/_Drgdzo1e8ksk


5. A student obtain  in

three subjects if the marks of another subject are

added. Then the average cannot be less than

A. 0.6

B. 0.65

C. 0.8

D. 0.9

Answer: A

Watch Video Solution

75 % , 80 % and 85 %

https://dl.doubtnut.com/l/_Drgdzo1e8ksk


6. If  are the means of two distributions

such that  is the mean of the

combined distriubtion, then

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

¯̄̄¯x2  and̄ ¯̄̄x2

¯̄̄¯x1 < ¯̄̄¯x2andx̄

x̄ < ¯̄̄¯x1

x̄ > ¯̄̄¯x2

x̄ =
¯̄̄¯x1 + ¯̄̄¯x2

2

¯̄̄¯x1 < x̄ < ¯̄̄¯x2

https://dl.doubtnut.com/l/_GJ9DX9dwZ0Rr
https://dl.doubtnut.com/l/_rQySk1RmxQsk


7. Mean of 100 items is 49. It was discovered that

three items which should have been 

were wrongly read as  respectively. The

correct mean is. (a)  (b)  (c)  (d) 

A. 48

B. 82.5

C. 50

D. 80

Answer: C

Watch Video Solution

60, 70, 80

40, 20, 50

48 82
1

2
50 80

https://dl.doubtnut.com/l/_rQySk1RmxQsk
https://dl.doubtnut.com/l/_u8B23NeygMew


8. The mean
 weight per student in a group of 7

students is 55 kg. The individual weights
 of 6 of

them (in kg) are 52, 54, 53, 56 and 54. Find the

weight of the
seventh student.

A. 55 kg

B. 60 kg

C. 57 kg

D. 50 kg

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_u8B23NeygMew
https://dl.doubtnut.com/l/_HwzfpEqpc7P0


9. If a variable takes the discrete values , 


, then the median is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α − 4

α − , α − , α − 2, α + , α − , α + 5(α > 0)
7
2

5

2

1

2

1

2

α −
5

4

α −
1

2

α − 2

α +
5

4

https://dl.doubtnut.com/l/_HwzfpEqpc7P0


10. The median of a set of nine distinct

observations is 20.5. If each of the last four

observations of the set is increased by 2, then the

median of the new set is

A. Is increased by 2

B. In decreased by 2

C. Is two times the original median

D. Remains the same as that of the original set

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_SxyrOAXdL7Yr


11. If in a moderately asymmetrical distribution the

mode and the mean of the data are ,

respectively, then the median is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6λ  and9λ

8λ

7λ

6λ

5λ

https://dl.doubtnut.com/l/_04dISz5bYOfm
https://dl.doubtnut.com/l/_z9RySYj9jy9d


12. The mean deviation about the mean of the

following distribution is 

A. 1

B. 1.25

C. 1.5

D. 1.75

Answer: B

Watch Video Solution

Size 20 21 22 23 24

Frequency 6 4 5 1 4

https://dl.doubtnut.com/l/_z9RySYj9jy9d


13. The mean deviation about the median of the

following distribution is 

Watch Video Solution

Marks obtained 10 11 12 14 15

Number of students 2 3 8 3 4

14. The variance of first n natural number is:

A. 

B. 

C. 

D. 

n2 − 1
12

n2 − 1
6

n2 + 1
6

n2 + 1
12

https://dl.doubtnut.com/l/_aFT8OMGUivdX
https://dl.doubtnut.com/l/_3WpzB1ArlttD


Answer: A

Watch Video Solution

15. The mean of five observations is 4 and their

variance is 5.2. If three of these observations are 1,2

and 6, then the other two are

A. 2 and 9

B. 3 and 8

C. 4 and 7

D. 5 and 6

https://dl.doubtnut.com/l/_3WpzB1ArlttD
https://dl.doubtnut.com/l/_IEZL9kkWxJeH


Answer: C

Watch Video Solution

16. The standard deviation of data 6,5,9,13,12,8 and

10 is

A. 

B. 

C. 

D. 

Answer: A

√
52

7

52

7

√6

6

https://dl.doubtnut.com/l/_IEZL9kkWxJeH
https://dl.doubtnut.com/l/_szKNSNDseqtj


Watch Video Solution

17. Consider the frequency distribution, where A is

a positive interger : 

Watch Video Solution

x A 2A 3A 4A 5A 6A

f 2 1 1 1 1 1

18. The standard deviation of the following

frequency distribution is 

A. 1.38

X 2 3 4 5 6 7

f 4 9 16 14 11 6

https://dl.doubtnut.com/l/_szKNSNDseqtj
https://dl.doubtnut.com/l/_M5fd6ugQeMHS
https://dl.doubtnut.com/l/_6oJJ9ID5RmE0


B. 1.42

C. 1.45

D. 

Answer: A

Watch Video Solution

1.60

19. Let a, b, c, d, e, be the observations with m and

standard deviation s.
The standard deviation of the

observations a+k, b+k, c+k, d+k, e+k is

A. s

https://dl.doubtnut.com/l/_6oJJ9ID5RmE0
https://dl.doubtnut.com/l/_Vn78VKhu4bcQ


Exercise 11 1

B. ks

C. s+k

D. 

Answer: A

Watch Video Solution

s

k

1. In a class of 100 students, there are 70 boys

whose average marks in a subject is 75. If the

https://dl.doubtnut.com/l/_Vn78VKhu4bcQ
https://dl.doubtnut.com/l/_YFu2hj77fRtI


average marks of the complete class is 72, then

what is the average of the girls ?

A. 73

B. 65

C. 68

D. 74

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YFu2hj77fRtI


2. The median of a set of nine distinct observations

is 20.5. If each of the last four observations of the

set is increased by 2, then the median of the new

set is

A. Is increased by 2

B. In decreased by 2

C. Is two times the original median

D. Remains the same as that of the original set

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1PKiAPhwc3TN


3. If in a frequency distribution, the mean and

median are  respectively, then its mode

is approximately (a)  (b)  (c)  (d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

21 and 22

20.5 22.0 24.0 25.5

22.0

20.5

25.5

24.0

https://dl.doubtnut.com/l/_opafEDBg562A
https://dl.doubtnut.com/l/_LTr9s80OrL41


4. The
 average marks of boys in a class is 52 and

that of girls is 42. The average
 marks of boys and

girls combined is 50. The percentage of boys in the

class
is
(1)
40
(2) 20
(3) 80
(4) 60

A. 40

B. 20

C. 80

D. 60

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_LTr9s80OrL41
https://dl.doubtnut.com/l/_oIc6BrB9JWRc


5. Compute the median from the following table 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

36.55

35.55

40.05

https://dl.doubtnut.com/l/_oIc6BrB9JWRc


Exercise 11 2

1. In an experiment with 15 observations of x the

following results were available

 one observation that

was 20 was found to be wrong and it was replaced

by its correct value of 30. Then the corrected

variance is

A. 

B. 

C. 

∑x2 = 2830, ∑x = 170

78.00

188.66

177.33

https://dl.doubtnut.com/l/_oIc6BrB9JWRc
https://dl.doubtnut.com/l/_sKW0gh3YwkEW


D. 

Answer: A

Watch Video Solution

8.33

2. In a series of  observations, half of them equal

 end remaining half equal  If the S.D. of the

observations is  then  equals

A. 

B. 

C. 

2n

a −a.

2, |a|

1

n

√2

2

https://dl.doubtnut.com/l/_sKW0gh3YwkEW
https://dl.doubtnut.com/l/_yjnW9vcGQzIJ


D. 

Answer: C

Watch Video Solution

√2

n

3. Suppose a population A has 100 observations

 and another population

B has 100 observations  If 

 represent the variances of the two

populations respectively, then  is

A. 1

101, 102, ................ , 200

151, 152, ....... .250.

VA and VB

VA

VB

https://dl.doubtnut.com/l/_yjnW9vcGQzIJ
https://dl.doubtnut.com/l/_739F95UQvv0L


B. 

C. 

D. 

Answer: A

Watch Video Solution

9/4

4/9

2/3

4. The
mean of the numbers a, b, 8, 5, 10 is 6 and

the variance is 6.80. Then which
 one of the

following
gives
possible values of a and b ?

A. a=0, b=7

https://dl.doubtnut.com/l/_739F95UQvv0L
https://dl.doubtnut.com/l/_o5KAWYflZklf


B. a=5, b=2

C. a=1, b =6

D. a=3, b=4

Answer: D

Watch Video Solution

5. Let  be the observations with

mean m and standard deviation s. The standard

deviation of the observations

 is

x1, x2, x3, x4, x5

kx1, kx2, kx3, kx4, kx5

https://dl.doubtnut.com/l/_o5KAWYflZklf
https://dl.doubtnut.com/l/_zg9HqHE3EmvA


A. k+s

B. 

C. ks

D. s

Answer: C

Watch Video Solution

s

k

6. Let 1  be n obervations .Let 

where l and k

are constants. If the mean of  is 48 and their

standard deviation is 12 the mean of  's is 55 and

x1, x2…. xn

wi = lxi + k  for  i = 1, 2…. n,

xi

wi

https://dl.doubtnut.com/l/_zg9HqHE3EmvA
https://dl.doubtnut.com/l/_CXVB1R5fqO0y


Exercise Single

standard deviation of  is 15 then the value of l

and k should be

A. l=2.5, k=5

B. l=-1.25, k=5

C. l=2.5, k=-5

D. l=1.25, k=-5

Answer: D

Watch Video Solution

wi

https://dl.doubtnut.com/l/_CXVB1R5fqO0y
https://dl.doubtnut.com/l/_zsEcNnDVbd7j


1. Coefficients of variation of two distributions are

50 and 60, and their arithmetic means are 30 and

25, respectively. Difference of their standard

deviations is

A. 0

B. 1

C. 1.5

D. 2.5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zsEcNnDVbd7j
https://dl.doubtnut.com/l/_8tbn49DzUjqS


2. The mean of a set of numbers is . If each

number is divided by 3, then the new mean is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

¯̄X̄

¯̄X̄

¯̄X̄ + 3

3¯̄X̄

¯̄X̄
3

3. The A.M. of the series  is -1, 2, 4, 8, 16, .... . , 2n

https://dl.doubtnut.com/l/_8tbn49DzUjqS
https://dl.doubtnut.com/l/_XwblOEOeQGV6


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2n − 1
n

2n+ 1 − 1
n + 1

2n + 1
n

2n − 1
n + 1

4. The mean of n items is . If the first item is

increased by 1, second by 2 and so on, then the

new mean is

¯̄X̄

https://dl.doubtnut.com/l/_XwblOEOeQGV6
https://dl.doubtnut.com/l/_rWEqY4VTcjW8


A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

¯̄X̄ + n

¯̄X̄ +
n

2

¯̄X̄ +
n + 1

2

5. In a moderately skewed distribution, the values

of mean and median are 5 and 6, respectively. The

value of mode in such a situation is approximately

equal to

https://dl.doubtnut.com/l/_rWEqY4VTcjW8
https://dl.doubtnut.com/l/_T9lz4LGOMJNT


A. 8

B. 11

C. 6

D. None of these

Answer: A

Watch Video Solution

6. For a normal distribution if the mean is M, mode

is  and median is , then

A. 

M0 Md

M > Md > M0

https://dl.doubtnut.com/l/_T9lz4LGOMJNT
https://dl.doubtnut.com/l/_O0yVxDGW95sf


B. 

C. 

D. 

Answer: D

View Text Solution

M < Md < M0

M = MdM0

M = Md = M0

7. The following data give the distribution of

heights of students : 

The median of the distribution is

Height
( in cm )

160 150 152 161 156 154 155

Numbers of 
students

12 8 4 4 3 3 7

https://dl.doubtnut.com/l/_O0yVxDGW95sf
https://dl.doubtnut.com/l/_rhj7rKmyK5K6


A. 154

B. 155

C. 160

D. 161

Answer: B

Watch Video Solution

8. An automobile driver travels from a plain to a hil

station 120 km away at an average speed of 30 km

per hour. He then makes the return trip at an

average speed 25 km per hour. He covers another

https://dl.doubtnut.com/l/_rhj7rKmyK5K6
https://dl.doubtnut.com/l/_JATuZ7uhkgv6


120 km on the plain at an average speed of 50 km

per hour. His average speed (in km/hr) over the

entire distance of 360 km will be

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

30 + 25 + 50

3

+ +a

30
1

25
1

50

3

3

+ +1
30

1
25

1
50

https://dl.doubtnut.com/l/_JATuZ7uhkgv6


9. The mean deviation of the data 3,10,10,4,7,10,5

from the mean is

A. 2

B. 2.57

C. 3

D. 3.75

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_VmjLESkJBXkF


10. when tested the lives (in hours) of 5 bulbs were

noted as follows 1357,1090,1666,1494,1623 

The mean deviations (in hours ) from their mean is

A. 178

B. 179

C. 220

D. 356

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_JHwd5P3hjAkR
https://dl.doubtnut.com/l/_7r8YqfBmGamM


11. Following are the marks obtained by 9 student

in a mathematics test 

50,69,20,33,53,39,40,65,59 

The mean deviation from the median is

A. 9

B. 10.5

C. 12.67

D. 14.76

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7r8YqfBmGamM
https://dl.doubtnut.com/l/_bWbbKWzWTgNO


12. If the mean of the distribution is 2.6, then the

value of y is 

A. 24

B. 13

C. 8

D. 3

Answer: C

Watch Video Solution

Variate x 1 2 3 4 5

Frequency f of x 4 5 y 1 2

https://dl.doubtnut.com/l/_bWbbKWzWTgNO


13. If the mean of the set of numbers

 is  then the mean of the

numbers  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x1, x2, x3, ..., xn x̄,

xi + 2i, 1 ≤ i ≤ n

x̄ + 2n

x̄ + n + 1

x̄ + 2

x̄ + n

https://dl.doubtnut.com/l/_lhhDMVjsT416
https://dl.doubtnut.com/l/_1vaVqZohGu30


14. The harmonic mean of 4,8,16 is

A. 6.4

B. 6.7

C. 6.85

D. 7.8

Answer: C

Watch Video Solution

15. The average of n numbers  is

M. If  is replaced by x', then new average is

x1, x2, x3, . . , xn

xn

https://dl.doubtnut.com/l/_1vaVqZohGu30
https://dl.doubtnut.com/l/_BFcFQgmgnfHP


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

M − xn + x'

nM − xn + x'

n

(n − 1)M + x'

n

M − xn + x'

n

16. The following data gives the distribution of

height of students : 

https://dl.doubtnut.com/l/_BFcFQgmgnfHP
https://dl.doubtnut.com/l/_wd45pQiFzjur


The median of the distribution is

A. 154

B. 155

C. 160

D. 161

Answer: B

Watch Video Solution

Height
( in cm )

160 150 152 161 156 154 155

Numbers of 
students

12 8 4 4 3 3 7

https://dl.doubtnut.com/l/_wd45pQiFzjur


17. For a slightly asymmetric distribution, mean and

medain are 5 and 6, respectively. What is its mode ?

A. 5

B. 6

C. 7

D. 8

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BBNZHSTysP22


18. Runs scored by a batsman in 10 innings are : 38,

70,48,34,42,55,63,46,54,44 

The mean deviation is

A. 8.6

B. 6.4

C. 10.6

D. 9.6

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BRGeqPH4CFr1
https://dl.doubtnut.com/l/_jvX9nAiWKxOq


19. If  the mean of distribution , then 

=

A. M.D.

B. S.D.

C. 0

D. Relative frequency

Answer: C

View Text Solution

μ (yi, fi)

∑ fi(yi − μ)

https://dl.doubtnut.com/l/_jvX9nAiWKxOq


20. The range of the following set of observations

 is

A. 11

B. 7

C. 5.5

D. 6

Answer: B

Watch Video Solution

2, 3, 5, 9, 8, 7, 6, 5, 7, 4, 3

https://dl.doubtnut.com/l/_OANKU61h3zqs


21. If each observation of a raw data whose

variance is  is multiplied by h, then the variance of

the new set is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

σ

σ2

h2σ2

hσ2

h + σ2

https://dl.doubtnut.com/l/_t45LpmdbIeBM
https://dl.doubtnut.com/l/_yIlGr6yVEMhm


22. If a variable x takes values 0,1,2,..,n with

frequencies proportional to the binomial

coefficients , then var

(X) is

A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

.n C0, .n C1, .n C2, . . , .n Cn

n2 − 1
12

n

2

n

4

https://dl.doubtnut.com/l/_yIlGr6yVEMhm
https://dl.doubtnut.com/l/_tVhtGP32dD1i


23. Variance of the data 2,4,6,8,10 is

A. 6

B. 7

C. 8

D. None of these

Answer: C

Watch Video Solution

24. If the standard deviation of  is ,

then the standard deviation of 

0, 1, 2, 3...9 K

10, 11, 12, 13....19

https://dl.doubtnut.com/l/_tVhtGP32dD1i
https://dl.doubtnut.com/l/_NugDVm294NsW


is

A. K

B. 

C. 

D. 10 K

Answer: A

Watch Video Solution

K + 10

K + √10

25. For a given distribution of marks, the mean is

35.16 and its standard deviation is 19.76. The

https://dl.doubtnut.com/l/_NugDVm294NsW
https://dl.doubtnut.com/l/_8h1mjYtQzabD


coefficient of variation is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

35.16

19.76

19.76
35.16

× 100
35.16

19.76

× 100
19.76
35.16

26. The mean and S.D of  is

A. 

1, 2, 3, 4, 5, 6

, √
7
2

35

2

https://dl.doubtnut.com/l/_8h1mjYtQzabD
https://dl.doubtnut.com/l/_RoHoW9mX18Ms


B. 

C. 

D. 

Answer: A

Watch Video Solution

3, 3

, √3
7
2

3,
35

12

27. The standard deviation of 25 numbers is 40. If

each of the numbers in increased by 5, then the

new standerd deviation will be -

A. 40

https://dl.doubtnut.com/l/_RoHoW9mX18Ms
https://dl.doubtnut.com/l/_LySuOqRe0hjX


B. 45

C. 

D. None of these

Answer: A

Watch Video Solution

40 +
21

25

28. Consider any set of observations

. It is given that 

, then the mean

deviation of this set of observations about a point

k is minimum when k equals

x1, x2, x3, . . , x101

x1 < x2 < x3 < . . Ltx100 < x101

https://dl.doubtnut.com/l/_LySuOqRe0hjX
https://dl.doubtnut.com/l/_XNLMqyV0v1QY


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

x1

x51

x1 + x2 + . . + x101

101

x50

29. For (2n+1) observations

 and 0, where all x's are

distinct, let SD and MD denote the standard

x1, x2, − x2, . . , xn, − xn

https://dl.doubtnut.com/l/_XNLMqyV0v1QY
https://dl.doubtnut.com/l/_qagXiTasWa8t


deviation and median, respectively. Then which of

the following is always true ?

A. 

B. 

C. SD=MD

D. Nothing can be said in general about the

relationship between SD and MD

Answer: B

View Text Solution

SD < MD

SD > MD

https://dl.doubtnut.com/l/_qagXiTasWa8t


30. Let r be the range and

 be the SD of a set of

observations , then

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

S2 =
n

∑
i= 1

(xi − x̄)21

n − 1

x1, x2, . . , xn

S ≤ r√
n

n − 1

S = r√
n

n − 1

S ≥ r√
n

n − 1

https://dl.doubtnut.com/l/_e1es2T6M4mC6
https://dl.doubtnut.com/l/_4LUU8wX92yXH


31. The standard deviation of variate  is . Then

standard deviation of the variate  where 

 are constants is-

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

xi σ

axi + b

c

a, b, c

( )σ
a

c

∣
∣

∣
∣σ

a

c

( )σ
a2

c2

https://dl.doubtnut.com/l/_4LUU8wX92yXH


32. The standard deviation of data 6,5,9,13,12,8 and

10 is

A. 

B. 

C. 

D. 6

Answer: A

Watch Video Solution

√
52

7

52

7

√6

https://dl.doubtnut.com/l/_hZeroGxP8kcv


33. If the mean of 100 observations is 50 and their

standard deviations is 5,than the sum of all

squares of all the observations is

A. 50000

B. 250000

C. 252500

D. 255000

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HrLdppDaksmY
https://dl.doubtnut.com/l/_5SFToCoYfpOK


34. The standard deviation of first 10 natural

numbers is
8.25 (b) 6.5 (c) 3.87 (d) 2.87

A. 5.5

B. 3.87

C. 2.97

D. 2.87

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5SFToCoYfpOK


35. Consider the numbers         

 . If  is added to each number, the variance of

the numbers so obtained is
6.5 (b) 2.87 (c) 3.87 (d)

2.87

A. 6.5

B. 2.87

C. 3.87

D. 8.25

Answer: D

Watch Video Solution

1, 2, 3, 4, 5, 6, 7, 8,

9, 10 1

https://dl.doubtnut.com/l/_PjquKmImo0s2


36. Consider the first 10 positve integers .If we

multiply each number by -1 and then add 1 to each

number,the variance of the number so obtained

A. 8.25

B. 6.5

C. 3.87

D. 2.87

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_57HRPhupjZEE
https://dl.doubtnut.com/l/_txCbXF9FrkDS


37. If for a sample of size 60, we have the following

information 
 , then

the variance is
6.63 (b) 16 (c) 22 (d) 44

A. 6.63

B. 16

C. 22

D. 44

Answer: D

Watch Video Solution

∑ ξ2 = 18000and∑ ξ = 960

https://dl.doubtnut.com/l/_txCbXF9FrkDS


38. The standard deviation of some temperature

data in  is 5 .If the data were converted into 

 then variance would be

A. 81

B. 57

C. 36

D. 25

Answer: A

Watch Video Solution

. ∘ C

. ∘ F

https://dl.doubtnut.com/l/_YJVXdduJvfE2
https://dl.doubtnut.com/l/_kF5D44Q8SobJ


Jee Previous Year

39. What is the standard deviation of the following

data ? 

A. 81

B. 7.6

C. 9

D. 2.26

Answer: C

Watch Video Solution

Measurement 0 − 10 10 − 20 20 − 30 30 − 40

Frequency 1 3 4 2

https://dl.doubtnut.com/l/_kF5D44Q8SobJ


1. If the mean deviation of the numbers

 from their mean is 

 then
the  is equal to

A. 

B. 

C. 10.1

D. 20.2

Answer: C

Watch Video Solution

1, 1 + d, 1 + 2d, ..., 1 + 100d

255, d

10.0

20.0

https://dl.doubtnut.com/l/_sgC8Kr4M4Qev


2. In a binomial distribution , if the

probability of at least one success is
 greater than

or equal to , then  is greater than

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

B(n, p = )
1

4

9

10
n

1

log104 − log103

1

log104 + log103

9

log104 − log103

4

log104 − log103

https://dl.doubtnut.com/l/_lDLNGPUcCawz
https://dl.doubtnut.com/l/_1YdcEVcsu2IK


3. For two data sets, each of size  the variances

are given to be  and  and the corresponding

means are given to be  and  respectively. The

variance of the combined data set is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5,

4 5

2 4,

13

2

5

2

11

2

6

https://dl.doubtnut.com/l/_1YdcEVcsu2IK
https://dl.doubtnut.com/l/_3brID3vIkzDC


4. If the mean deviation about the median of the

numbers a, 2a, .....,
 50a is 50, then |a| equals :
 (1) 2

(2) 3 (3) 4 (4) 5

A. 5

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3brID3vIkzDC


5. Let  be n observations, and let x be

their arithmetic mean and  be the variance 


Statement 1 : Variance of . 


Statement 2: Arithmetic mean  is

4x.

A. Statement 1 is false, statement 2 is true.

B. Statement 1 is true, statement 2 is true,

statement 2 is a correct explanation for

statement 1.

C. Statement 1 is true, statement 2 is true ,

statement 2 is not a correct explanation for

x1, x2, . . , xn

σ2

2x1, 2x2, . . , 2xn  is4σ2

2x1, 2x2, . . , 2xn

https://dl.doubtnut.com/l/_TI63pVK1ehO9


statement 1.

D. Statement 1 is true, statement 2 is false.

Answer: D

Watch Video Solution

6. All the students of a class performed poorly in

Mathematics. The teacher decided to give grace

marks of 10 to each of the
 students. Which of the

following statistical measures will not change even

after the grace marks were given ?

A. mean

https://dl.doubtnut.com/l/_TI63pVK1ehO9
https://dl.doubtnut.com/l/_lE6PvvchGPwv


B. median

C. mode

D. variance

Answer: D

Watch Video Solution

7. The variance of
 first 50 even natural numbers is

(1) 
(2) 833
(3) 437
(4) 

A. 

B. 

833

4
437
4

833

4

833

https://dl.doubtnut.com/l/_lE6PvvchGPwv
https://dl.doubtnut.com/l/_tqdPVBhlJzyT


C. 

D. 

Answer: B

Watch Video Solution

437

437
4

8. The
 mean of the data set comprising of 16

observations is 16. If one of the
observation valued

16 is deleted and three new observations valued 3,

4 and 5
 are added to the data, then the mean of

the resultant data, is : (1)
 16.8 (2) 16.0 (3) 15.8 (4)

14.0

https://dl.doubtnut.com/l/_tqdPVBhlJzyT
https://dl.doubtnut.com/l/_p866j5V4F9r8


A. 16.8

B. 

C. 15.8

D. 

Answer: D

Watch Video Solution

16.0

14.0

9. If the standard deviation of the numbers   

and  is  then which of the
following is true ?

A. 

2, 3, a

11 3.5,

3a2 − 32a + 84 = 0

https://dl.doubtnut.com/l/_p866j5V4F9r8
https://dl.doubtnut.com/l/_VRafGMOQU96b


B. 

C. 

D. 

Answer: A

Watch Video Solution

3a2 − 34a + 91 = 0

3a2 − 23a + 44 = 0

3a2 − 26a + 55 = 0

10. If

,

then the standard deviation of the 9 items

 is

9

∑
i= 1

(xi − 5)  and∑
–––––

(i = 1)9(xi − 5)2 = 45

x1, x2, . . , x9

https://dl.doubtnut.com/l/_VRafGMOQU96b
https://dl.doubtnut.com/l/_1P9HssiHLGrd


A. 3

B. 9

C. 4

D. 2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1P9HssiHLGrd

